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1. (5 pts each) Find lim,, o @, Where the general term a,, is as below:

(a) a, = cos(n)—1
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2. (5 pts eachs) Determine whether the following series converge or diverge {Specify clearly the
method/test used and give details).
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3. (1045 pts) Let f(z) = i (—1)::;2; =

n=1I

(a) Find the domain of f(z) (ie., the interval of convergence of the series).
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(b) Find fO(3). |
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4. (5 pts each) Find the first 3 nonzero terms of the Taylor Series expansion of the functions

around the indicated points below.

(a) €® cos(z) around 0. .
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5. (1045 pts)

(a) Find the power series expansion of 7%, [Recall that t—> =3 72" ]
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6. (10+5 pts) Consider the definite integral .
(10+5 pts) Consider the ememegrafouﬂ_/

(a) Find the value of this definite integral as an infinite series.
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{b) How many terms of the series are needed to approximate the value of the integral within
an error less than 0.0001.

( : C,. . [orsd w0 Hferens
PR & 5 ; : A
o Alkerating Serien | toting |
‘n\ Yd
o SIS xk  der e
houing o erroe s e T VE AR

% o 7 o
2%Z¢w@f"i <1\ 4Ny

AQQ O
2 TRy

£ £ % o = “—%e‘
H _g N min /} % < L 0o
2.
% A
o (dx .o A A ik on ereer e
— H T L
4 ﬁ 4 -8 =
SIS AN & o 1T

H

:} 5 ie“&f"\ ety ‘*—.} t} ¥



